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R S0 6 4 S0 5 S04 F P
X5y NEON) | FIE (%) | AEON (| BIE (%) | AN | FIE (%)
v 108 38.7 124 44.3 119 43.9
4 £EHIR A ST 13 4.7 16 5.7 14 5.2
oo 98 35.1 85 30.4 93 34.3
R« RFPAL - BRI 0.0 1 0.4 0.0
o Wk 0.0 0 0.0 0.0
Z O 60 21.5 54 19.3 45 16.6
& G 279 100.0 280 100.0 271 100.0
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UK 6 5 , 3¢ 3 6 5 JLEK 8 8 , 9 8 6 6
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HORURHER 2 2, - = -« = BN 14 ( 14, 6 ¢ 4 > 19 ¢ 16 »
R 2 2, 2 2 5 ¢ 5 LXESN 12 ( 11 , 15 ¢ 14 H| 383 ¢ 31 »
FERIZPN 11 ( 10 , 15 ¢ 15 » 12 « 12 PR 35 ¢ 31 ,| 43 ¢ 35 | 59 ¢ 47 >
BIRK 12 ¢ 10 ,| 11 ¢ 10 »| 11 ¢ 10 »| HEEHEK 11 (¢ 10 ,| 12 ¢ 12 H| 11 ¢ 11 »
EAIEPN 2 2, 0¢c 0 » 1 ¢ 1 | HRIERK 2 2, 3¢ 3 2 2
HABK 2 1, 2 1 3¢ 2 o HEERK 53 39 ,| 61 56 | 57 ¢ 39
INITN 2 2, 5 4 > 2 2 HPER 41 40 ,| 53 ¢ 49 | 45 « 45 >
LLIEPN 0¢ 0 , 2 2 0¢ 0 » AARK 27 « 24 ,| 30 ¢ 28 »| 26 ¢ 23>
RPN 1. 0 , 1 ¢ 15 0c 0 » IR ON 55 ¢ 51 ,| 39 ¢ 37 »| 53 ¢ 51>
Z o 51 ( 44 ,| 46 « 40 > | 41 ¢ 31 REPN 78 ¢ 69 ,| 59 49 | 66 56 )
EbVi 141 ( 115 ,| 162 ¢ 143 H | 151 ¢ 130 ) | BAIRZFEBER 15 ( 14 5¢ 5 3¢ 3
iR LR 1. 1, 1 ¢ 15 1 ¢ 15 SEEOR 27 ¢ 23 ,| 21 ¢ 19 »| 26 ¢ 25 )
W RAERERL K 0 0, 0c 0 » 0c 0 » RPN 34 31 ,| 33 28 »| 36 ¢ 32
3PN 0 9 , 15 « 14 9 9 » [EEEWN 4 3, 3¢ 9 1 ¢ 1
BORAHRSL R 5 3, 3¢ 3 1¢ 15 DATHEPN 8¢ 6 ,| 24 ¢ 22 17 ¢ 15
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B A IS 90.7% 92.1% 91.4%
Btk 80.3% 81.0% 84.0%
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